
7

Whiteside Machine

1/4” SHANK STRAIGHT BITS 

PART # 1040

3/8” SHANK STRAIGHT BITS 

PART # 1022

Part # Cutting 
Dia.

# Of 
Flutes

Cutting 
Length

Overall 
Length Special Use

3/8” SHANK - Single Flute
1035 3/8” 1 1” 2-5/8” -
1036 3/8” 1 1-1/4” 2-7/8” -

3/8” SHANK - Two Flute
1039 3/8” 2 1” 2-5/8” -
1040 3/8” 2 1-1/4” 2-7/8” -
1041 3/8” 2 1-1/4” 3-5/8” Air Router
1043 1/2” 2 1” 2-1/2” -
1045 7/8” 2 1” 2-1/2” -

Part # Cutting   
Dia.

Cutting 
Length

Overall 
Length Special Use

1/4” SHANK - Single Flute
1004 1/4” 3/4” 2-1/4”
1005 1/4” 1” 2-1/2”
1007 1/4” 1” 3-1/4” Air Router
1008 9/32” 3/4” 2-1/4”

1/4” SHANK - Two Flute
1012 1/4” 1/2” 2”
1013 1/4” 3/4” 2-1/4” Incra®

1014 1/4” 1” 2-1/2”
1016 1/4” 1” 3”

1016-01 1/4” 1” 3-1/4” Air Router
1018 9/32” 1” 3”
1019 5/16” 1” 2-1/2” OmniJig® #43300
1020 5/16” 1” 2-3/4” Leigh #140

1020X8 5/16” 1” 2-3/4” Leigh #140-8mm Shank
1021 3/8” 3/4” 2-1/4”
1022 3/8” 1” 2-1/2” Incra®

1023 3/8” 1-1/4” 2-3/4”
1023A 13/32” 1” 2-1/2”
1024 7/16” 1” 2-1/2”

1024A 31/64” 3/4” 2-1/4” Plywood Dado
1025 1/2” 3/4” 2-1/4”
1026 1/2” 1” 2-1/2” OmniJig® #43318
1027 9/16” 3/4” 2-1/4”

1027A 19/32” 3/4” 2-1/4” Plywood Dado
1028 5/8” 3/4” 2-1/8”
1029 11/16” 3/4” 2-1/8”

1029A 23/32” 3/4” 2-1/8” Plywood Dado
1030 3/4” 3/4” 2-1/8”
1031 3/4” 1” 2-5/8”
1033 1” 3/4” 2-1/8”
1303 1-1/4” 1/2” 2-1/8” Mortising

CARBIDE TIP - STRAIGHTS
SI

NG
LE

 F
LU

TE
TW

O 
FL

UT
E

1/2” SHANK STRAIGHT BITS 

PART # 1066

Part # Cutting   
Dia.

Cutting 
Length

Overall 
Length Special Use

1/2” SHANK - Single Flute
1049 3/8” 1” 2-5/8”
1050 3/8” 1-1/4” 2-7/8”
1051 1/2” 3/4” 2-3/8” Midwest Machine
1052 1/2” 1-1/4” 2-7/8”
1054 1/2” 1-1/2” 3-1/8”
1055 1/2” 2” 4-1/8”

1055A 1/2” 2-1/2” 4-3/8”
1/2” SHANK - Two Flute

1058 1/4” 3/4” 2-3/8” Incra®

1059 9/32” 3/4” 2-3/8”
1060 5/16” 1” 2-5/8”
1061 3/8” 3/4” 2-3/8”
1062 3/8” 1” 2-5/8” Incra®

1063 3/8” 1-1/4” 2-7/8”
1064 13/32” 3/4” 2-1/2”
1065 7/16” 1-1/4” 2-7/8”
1065L 7/16” 1-1/4” 3-1/4” Leigh #150
1065A 31/64” 1” 2-5/8” Plywood Dado
1066 1/2” 1” 2-5/8”
1067 1/2” 1-1/4” 2-7/8” Leigh #160
1067F 1/2” 1-1/4” 2-7/8” Carbide Boring Point
1069 1/2” 1-1/2” 3-1/8”

1069DS 1/2” 1-1/2” 3-1/8” Down Shear
1070 1/2” 1-1/2” 4-1/8”
1071 1/2” 2” 3-1/2”
1072 1/2” 2” 4-1/8”
1073 1/2” 2-1/2” 4-3/8”

1073-01 1/2” 2-1/2” 5-1/2”
1074 17/32” 1-1/4” 2-7/8”
1075 9/16” 1-1/4” 3”

1075A 19/32” 3/4” 2-1/4” Plywood Dado
1076 5/8” 1” 2-1/2”
1076F 5/8” 1” 2-1/2” Carbide Boring Point
1077 5/8” 1-1/4” 3”
1078 5/8” 1-1/2” 3”
1079 5/8” 2” 4”
1080 21/32” 1-1/4” 3”
1082 11/16” 1” 2-1/2”
1083 11/16” 1-1/4” 3”

1083A 23/32” 1” 2-1/2” Plywood Dado
1302A 3/4” 5/8” 2-1/4” Mortising
1084 3/4” 1” 2-3/4”
1085 3/4” 1-1/4” 3”
1085F 3/4” 1-1/4” 3” Carbide Boring Point
1086 3/4” 1-1/2” 3-1/4”
1087 3/4” 2” 3-5/8”
1088 25/32” 1-1/4” 3”
1090 13/16” 1-1/4” 3”
1091 7/8” 1-1/4” 3”
1092 15/16” 1-1/4” 3”
1093 1” 1-1/4” 3”
1093F 1” 1-1/4” 3” Carbide Boring Point
1094 1” 1-1/2” 3”
1095 1” 2” 3-3/4”
1096 1-1/8” 1-1/2” 3”
1304 1-1/4” 1/2” 2-1/8” Mortising
1097 1-1/4” 1-1/2” 3”
1098 1-3/8” 1-1/4” 3”
1099 1-1/2” 1-1/4” 3”
1100 1-3/4” 1-1/4” 3”
1101 2” 1-1/4” 3”

SI
NG

LE
 F

LU
TE

TW
O 

FL
UT

E




